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// TERXFAE>,<,>=, <=, AMEEMZE L, FVLMEEA.
int a =!(1>2<3<=1>=0) ;
printf("%d\n",a);

// TEHNFRE==M=—=XEMzE I,
int b =1==21=2;

printf("%d\n",b);

//"FEEERRAR, REERRBRARHRITEE
int ¢ =3>5==51=2<3>=4<=2;
printf("sd\n",c);

//BIH AR, Friid=1

int d =1>2||1;

printf("%sd\n",d);

/ /B AR, Breddl=1

int dl1 =1>2&8&1;

printf("%sd\n",d1);

[/1IARKRTF4, A AR, B AR AR, d2=1
int d2 =!1>4;

printf("s%sd\n",d2);
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//BTFe2ZEMAR, EMAHITIZE, Frblixe=1,e2=1
int e =1;
int e2 =1||e++;
printf("%sd\n%d\n",e,e2);
int q =1;
int ql =2&&q++;
printf("%sd\n%sd\n",q,ql);
int w =1;
int wl =1+2<1| |w++;
int w2 =1+2<1| |++w;
printf("%d\n%sd\n%sd\n" ,w,wl,w2);
int z =1;
int z1 =1-1<1&&z++;
int z2 =1-1<1&&++2Z;
printf("%sd\n%d\n%sd\n",z,z1,22);

int a = 0;
int b = a=0]| |a&&a++;
printf("a=%d\n",a);
printf("b=%d\n",b);
return 0;
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#include <stdio.h>
int main()({
int a=1>2;
a=1>273:4;

printf("%d\n",a);
return 0;
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int a=1>2?3+2:int b=3;
printf("%d\n",a);
return 0;




